1.2 — 1.3 Quiz Review Name W
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U. A(x-4)_3x+5 i

1. Solve each of the following for x

X a4 b33 _ e : _
7 2 G 2 4
X -9 3xt3=l(x-5) H(x-4) = 3x+5
‘2;_________* 2X+3 = (UK -30 qxlg_i;xfg
[x=-42 | 3x =32 X=2]
i X =1l | Mt
2. Solve each of the following for x and state how many solutions each has:
a. 5(7x—8)+8x=-255 b. 92 =8x+4(x-1) c. 3x-9=3(x-4)+2

2H5X-H40 +Bx=-265 AL =Bx-dy -4+ 3X-9=3x-12+72

43X =-219 Au = “4=-10
(x =-5]| x=24 ) [:\JOJotuhon/
one Solvhon bhe SpluhoN

3. The sum of three consecutive number is 219. What are the three integers?

X+ (X+1)r(xX+2) =219
(erd 7 (x2) ) [72,13,7@

3x+3=z1a X7T%
- AX = 2

7. Hans needs to rent a moving truck for his move across Canada. Company A charges a rate of $40 per day
and a 100 dollar base fee. Company B charges a $160 base fee, and then $20 per day. After how many days

will both companies charge the same amount? X= #dF dazy s
&%Mﬂ Aé.T80x+ 2’52 HOx +100 = 10 + 20<
: 20% = Wo

WBM % 29 28
Will ch o

8. Shelly works for a lawn mowing busmess Every month the company pays her $200, plus $15 per lawn she
mows. If shelly earned a total of $395 last month, how many lawns did she mow? % = H lwh (

200+ 16X = 395 fbucd

- 15x=115 S
- 15 5 \ she mowed 13
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